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21 The table below shows information about the heights of 60 students.
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21 The table shows information about the speeds of 100 lorries.
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15 The cumulative frequency graph shows information about the marks scored by a group of 80
Students in a test.
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(b) lqra says
15% of these fanilies spent over £120.

Is her statement comrect?
State the evidence you have used in making your decision.

@

() Ina survey of 200 families in the south of England, the median weekly amount spent on food
was £84 and the interquarie range was £28.

Make two comparisons between the weekly amounts spent on food in the north of England
and the south of England.
State the evidence you have used in making your comparisons.
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10 This graph shows the world population, in billions, between 1951 and 2015.
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12 The cumuiative frequency graph shows the speeds, in miles per hour (mph), of vehicles passing a
40 mph speed limit sign on a r0ad.
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14 The table shows the marks gained by 150 students taking an examination.
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(b) Students are to be awarded Gold, Siver, Bronze or Fail.
‘The students' teacher wishes to award the top 10% of students Gold, the next 60% Silver
and the next 20% Bronze.

Use your graph to estimate the lowest mark that Silver will be awarded fo.

() ©

() Explain why the teacher's method will not necessarll award Gold to exactly 10% of the.
students.
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17 (b)  Apples with mass 90 grams or less cost 32p each.
‘Apples with mass more than 90 grams cost 39p each.

Estimate the total cost of the 200 apples.
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15 Here is some information about the test marks of 120 students.
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15 (c)

‘Students who scored 15 marks o fewer take another test.

Use your graph to estimate how many students take another test.

(2 marks]
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25 ‘Asample of 50 eggs is taken from Farm A
‘The table shows information about the masses of the eggs from Farm A.
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For medium eggs, 539 < mass <639
The Farm A sample has more medium eggs than the Farm B sample.
Using the table and the histogram, estimate how many more.

You must show your working.

[4 marks)





image36.png
1 “The cumulative frequency graph shows information about the masses of 50 apples.
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12 The table gives information about the weekly wages of S0 people.
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19 Type A batteries and type B batteries were tested.
‘The cumulative frequency diagram shows information about the battery lfe of type A.
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19 (a)  Estimate the interquartile range for type A.
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19 (b)  Estimate the number of type A batteries that had a battery life of more than 1600 hours.
11 mark]

Answer

19 (c)  The box plot shows information about the battery life of type B.
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2 Here is some information about the miles per gallon of 60 cars.
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22 (b)  Use the graph to work out the interquartile range.
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Answer miles per gallon
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19 Hereis some information about the marks of 60 students in a test.
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19 (b)

Use your graph to estimate the lowest mark of the top 20% of students.

12 marks]
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It Students in a class took a speling test
The diagram shows information about the scores.
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Her score was the same as the median score for her class.

Work out her score.
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Here are the examination marks for 60 pupils.

Mol drew this cumuiative frequency graph to show the data.
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Make two crtcisms of Molly's graph.
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11 The grouped frequency table gives information about the times, in minutes, that 80 office
workers ke o get to work.
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(b) O the grid, draw the cumulative frequency graph for this information.
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